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m &M | A|B|E|F|G|H|L|[W|[d|t|T/[1H8A1FEA
2Y1 25 |53|40|79|18|27|97|45|16|10|25|32| 120 | 10

m &M | A|B|E|F|G|H|L|W|[d|t|T]/|1FEA

S2Y1 25 |53|40|79|18|27|97|45|16|10|25|3.0| 10

m &M | A|B|E|F|G|H|L|[W|[d]|t|[1H#BA1FEA

2Y2 25 |53|40|86|55|19|160| 45|16 |10 |25| 36 4

m &P | A|B|E|F|G|H|L|W|[d|t]|[1HEA

S2Y2 | 25 |53 |40|86|54|20|160| 45|16 |10 |25| 4

m E|MF H|A|B|E|F|G|H|L|W|d|t [1®#A1FEA

2Y3 25 |53|40|86|55|19|160| 45|16 |10 |25| 20 4

m E|MF H|A|B|E|F|G|H|L|W|d|t|[1HA

S2Y3 | 25 | 53|40 |86 |55|19|160| 45|16 |10 (25| 4

m &M | A|B|D|E|F|G|H|L[W|d|t|T/[H8A1HEA
2YT1 25 |53|40|45|78(19|72|97 |90 |16|10|25|3.2| 48 4
m &M | A|B|D|E|F|G|H|L|W|d|t]|T|[1fA
S2YT1| 2% |53 (40|45|79|18|72|97|90|16|10|25|3.0| 4

m | | A|B|D|E|F|G|H|L|[W|d|t|T/[#A1FEA
2YT2 | 25 |53|40|45|86|55|19|160(90 | 16|10 |25 — | 18 2
m | | A|B|D|E|F|G|H|L|[W|d]|t|[18A

S2YT2| 2% |53 |40|45|86|54|20|160|/90 |16 |10|25| 2

m | | A|B|D|E|F|G|H|L|W|d|t[1HA1FEA
2YT3 | 25 | 53|40 |45|86|55|19(160/90| 16|10 (25| 10 2

m | | A|B|D|E|F|G|H|L|[W|d]|t|[1FA

S2YT3| 25 |53 |40|45|86|55|19|160|90 |16 |10|25| 2

m &|MF | A|B|C|D|E|F|L|W|[d]|t|[1#BA1FEA

2T1 25 |53|40| 71|96 (128|73|45|16|10|25| 120 | 12

m &M | A|B|C|D|E|F|L|W|[d|t|[1HA

S2T1 25 |[53|40| 71|96 (128|73|45|16 |10 |25| 12
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